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K The plastic culture is highly embedded in today’s man’s life
right from tooth paste tube to tablet cover. Many countries have recognised
the evil effects of plastics, but it is yet to be strictly implemented in India.
Neglecting Indian government’s recommendation we do not go for eco-
friendly or cloth bags. While at industrial level, thick plastics usage can not
be abandoned, at least at domestic use it can be avoided. Using metal cans
for bringing milk, oil etc.using banana leaves for food pocket parcel, cloth
bags for vegetables, bamboo backets for vegetable transportation be
followed. Plastic recycling causing air pollution also be avoided. ‘No-
smoking’ to cigar, may pave way to ‘No-plastics’ now.
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